flux

Ax? / 0.3852

Ax? / 0.3848

15 20

10

200

100

Fe2 + Continuum Fit

oy 131 km/s
: —

Opep 237 +/— 235 km/s
— :

Wl"‘.\

X2, / 4572 = 0.3852
i, =

2000 2500 3000 3500 4000 4500
Rest A (&)
Fe2 Scale Factor X2 Diagnosis
o, 131 km/s 0.00583(51) X2min / 4572 = 0.3852
T T T T T — 1 T T L L L A
[ rm757 RMS 2.32 ]
i MAD 2.02 ]
L L L L | L L L L | L L L L | L L L n | L L L L | L L L L | L L L L | L L L L |
3x107° 4x1073 5x1073 6x107> 7x1073 8x107> 9x1073 0.01
Fe2 scale factor
Fe2 Velocity Dispersion X2 Diagnosis
o, 100 3603 prior 225 km/s —850(240 X2min / 4572 = 0.3852
[ T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T]
rm75[7 RMS 13.8 -
MAD 9.02 ]
A ,“A TR A".“Jhl‘u J AVMMI—A\VMVI\'AAMVMUMVA'N 4
L P I T O SO TR NN SO T T SR A O SO TR S AN SO O RO SR N SO SN T N AN SR RO SO TR N S R SR SR BRI
0 500 1000 1500 2000 2500 3000 3500 4000 4500

Fe2 Dispersion (km/s)



